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1. A patient has a 46XY karyotype but the physical characteristics of a female. This individual also has male gonads and an absence of axillary and public hair. Which one of the following reflects the MOST likely etiology?

a. Absence of estrogen receptors.

b. An insufficiency of testosterone.

c. Absence of androgen receptors.

d. An insufficiency of estrogen.

e. A defect in testicular determining gene.

2. Which one of the following is an acceptable treatment for infertility?

a. Ethinyl Estradiol

b. Gonadotropin Releasing Hormone

c. Raloxifene

d. Human Chorionic Gonadotropin

e. Vitamin D

3. Which one of the following hormones is NOT secreted by the anterior pituitary gland?

a. Luteinizing Hormone.

b. Antidiuretic Hormone.

c. Thyroid Stimulating Hormone.

d. Growth Hormone.

e. Adrenocorticotropic Hormone.

4. Regarding prolactin, which one of the following statements is CORRECT?

a. Pharmacological therapy of hyperprolactinemia may include treatment with dopamine antagonists such as bromocryptine and cabergoline.

b. Prolactin secretion is regulated by the secretion of serotonin.

c. Excess secretion of prolactin may lead to galactorrhea.

d. In men, prolactin participates in a positive feedback system, which leads to the secretion of testosterone.

e. Dopamine agonists such as respiridol may lead to hyperprolactinemia syndromes.

5. A.F., a 72 year old female, started taking amiodarone for atrial fibrillation about 8 months ago; baseline thyroid function tests at that time were all normal. If A.F. develops amiodarone-induced biochemical hypothyroidism that requires treatment with thyroxin, what would her thyroid function tests MOST likely show?

a. High serum TSH, low serum T4.


b. Low serum TSH, low serum T4.

c. Low serum TSH, high radioactive iodine uptake.

d. Normal serum TSH, low serum T4.

e. Normal serum TSH, low radioactive iodine uptake.


6. Which neuropathological finding is MOST typical of Parkinson’s disease?

a. Lewy bodies

b. Amyloid plaques

c. Neuronal necrosis

d. Neurofibrillary tangles

e. Lipohyalinosis

7. Spreading depressions of Leao . . .


a. 
Are seen in the generalized epilepsies.

b. Are blocked by activation of nicotinic receptors.

c. Travel over the cortex at a rate of 3 mm/minute.

d. Are due to the diffusion of endorphins in the extracellular space.

e. Are characterized by epileptiform activity, which is observed after the electrical depression.

8. Which one of the following is NOT involved in the etiology of gastroesophageal reflux disease (GERD)?

a. Smoking

b. Hiatus Hernia

c. Pregnancy.

d. Zollinger-Ellison Syndrome.

e. Abnormal peristalsis.

9. A patient presents to their family physician with severe abdominal pain and fever. Laboratory investigation reveals a positive guaiac smear test, elevated leukocytes, and the presence of pANCA. Colonoscopy reveals ulcerative damage along the colonic wall as well as the presence of pseudopolyps. With regards to this patient’s MOST LIKELY medical condition, which one of the following statements is INCORRECT?

a. Inflammatory damage to the gastrointestinal epithelium is likely due to a TH2 cellular response.

b. If untreated, this patient may develop episcleritis or ankylosing spondylitis.

c. Dietary modification may help to alleviate disease symptoms in this patient. 

d. Increased concentrations of IL-12 will be detected in the blood of this patient.

e. An appropriate treatment regimen includes regular exercise, pharmacotherapy with corticosteroids and aminosalicylates, and use of nicotine patches. 
10. Atherosclerosis is principally a disease of the:

a. Intima.

b. Adventitia

c. Media.

d. All of the above.

e. None of the above.

11. A 51-year-old male experienced severe chest pain after shovelling snow. Which one of the following is the MOST likely cause?

a. Muscle spasm.

b. Abdominal gas.

c. Myocardial ischemia.

d. Cold weather.

e. Pneumonia.

12. Regarding accommodation, which one of the following statements is INCORRECT?

a. The ciliary body muscle contracts to allow accommodation.

b. The ciliary body muscle moves in the anterior direction when it contracts.

c. The ciliary body action tightens the zonules and allows the lens to round up in shape.

d. Accommodation allows the eye to adjust for close vision.

e. Prolonged accommodation can cause eye strain.

13. Which one of the following statements about the use of fluorescein is INCORRECT?

a. It aids the diagnosis of a corneal abrasion - attaches to Bowman’s membrane in absence of epithelium.

b. It permits tear layer evaluation in dry eye or in contact lens fitting.

c. It is required for applanation tonometry for glaucoma.

d. It identifies an aqueous leak post surgery.

e. It can be injected intraocularly for angiography of retina.
14. Most of body iron is present in the form of:

a. Hemoglobin

b. Myoglobin

c. Heme enzymes

d. Transport iron

e. Transferrin

15. All the following statements concerning warfarin are true EXCEPT:

a. Warfarin binds to antithrombin-III, a plasma glycoprotein that functions as the major inhibitor of thrombin and Factor X (Stuart-Prower Factor).

b. Warfarin is used as an anticoagulation therapy for the treatment of thrombosis.

c. It was originally discovered in the extracts of sweet clover.

d. Warfarin therapy leads to the production of incomplete and non-functional coagulation proteins including Protein C and Protein S. 

e. Warfarin inhibits the biological activity of vitamin-K reductase.
